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QUESTION 1

Which one of the following statements is true regarding a SAS DATA step view? 

A. It allows write capabilities. 

B. It contains global statements. 

C. It contains data and a descriptor portion. 

D. It contains a partially compiled DATA step. 

Correct Answer: D 

 

QUESTION 2

Given the following SAS program: 

proc sql; 

select product, type, sum(sales) as revenue 

from one 

group by product, type; 

quit; 

Which one of the following clauses should be added to the program to sort the output by PRODUCT and decreasing
REVENUE? 

A. order by 1, 3 

B. order by 1, 3 desc 

C. orderby product, revenue desc 

D. order by product, desc revenue 

Correct Answer: B 

 

 

QUESTION 3

Which one of the following automatic SAS macro variables contains the return code from a previously executed step? 

A. andRC 

B. andERR 
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C. andSYSRC 

D. andSYSERR 

Correct Answer: D 

 

QUESTION 4

Given the following SAS data set ONE: 

ONE LEVEL AGE 

1 10 2 20 

3 20 

2 10 

1 10 

2 30 

3 10 

2 20 

3 30 

1 10 

The following SAS program is submitted: 

proc sql; 

select level, max(age) as MAX 

from one group by level 

having max(age) > (select avg(age) from one); 

quit; 

Which one of the following reports is generated? 

A. LEVEL AGE 

2 20 

3 20 

B. LEVEL AGE 

2 30 

3 30 
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C. LEVEL MAX 

2 20 

3 30 

D. LEVEL MAX 

2 30 

3 30 

Correct Answer: D 

 

 

QUESTION 5

Which one of the following is the purpose of the IDXNAME= data set option? 

A. It instructs SAS to name and store a specific index. 

B. It instructs SAS to store an index in a particular location. 

C. It instructs SAS to use a specific index for WHERE processing. 

D. It instructs SAS to use any available index for WHERE processing. 

Correct Answer: C 
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